Factorise quadratic expressions including the difference of two squares, e.g. x2 – 9 = (x-3)(x+3)


	The constant terms in each bracket have a difference of 1


	A quadratic that is a perfect square


	One factor is 

(x + 2)

	The difference of the constant term in each bracket is 7


	One of the factors is (x + 4)
	One of the factors is (x + 6)



	One of the factors is (x + 3)
	One of the factors is (x – 4)
	A quadratic that cannot be factorised
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x2 + 8x +12











12 + 4x – x2














x2 + 7x +12











x2 + 25














x2 – 7x + 12














12 – x – x2











x2 + 8x +16














x2 – 16











x2 + x – 12
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